H & 0l & AHS B Ml A

M BASE SFEA &4
o2 BASE AIM =2 Y 52 (EEEE))
S - B - SRA(SIH) - HSAY - BYS ol &4 ol o HRE2
JIZ 0 XDt 37,197,011 34,793,434 2,403,577
= 24,844,493 26,673,012 1,828,519
Il 75,800 75,800 0
&< 1,693,082 2,120,132 A427,050
Al 10,583,636 5,924,490 4,659, 146
BEASE SFHETA =4 2,156,114 2,038,114 118,000
< 568,000 450,000 118,000
Al 1,588,114 1,588,114 0
BASE A 2= 2 B 2,156,114 2,038,114 118,000
= 568,000 450,000 118,000
Al 1,588,114 1,588,114 0
13128 gl &Il SatX+7 =4 118,000 0 118,000
&< 118,000 0 118,000
201 Zet2& ] 118,000 0 118,000
< 118,000 0 118,000
01 At22t2ltl 118,000 0 118,000
018188 8le &Il S5HA7 =&A (88
) 118,000,000 118,000 0 118,000
== 118,000 0 118,000
HE==F2 HIZ e 31,682,686 31,472,641 210,045
= 24,488,923 26,316,383 1,827,460
S 1,031,332 1,577,332 546,000
Al 6,162,431 3,578,926 2,583,505
=2 O1E e 31,455,094 31,245,049 210,045
= 24,488,923 26,316,383 1,827,460
S 986,332 1,532,332 546,000
Al 5,979,839 3,3%,334 2,583,505
NEE N=sA29d E2AHY 50,400 42,000 8,400
= 30,240 25,200 5,040
Al 20,160 16,800 3,360
402 SI2ERHE01 ™ 50,400 42,000 8,400
= 30,240 25,200 5,040
Al 20,160 16,800 3,360
02 QI H2AIS 2R (0IETHR) 50,400 42,000 8,400
ONEE M==AY ESAME 50,400 42,000 8,400
—MHASES 600,000 »84CH 50,400 42,000 8,400
= 30,240 25,200 5,040
Al 20,160 16,800 3,360
BHEOtA H2ZEALS 40,594 36,969 3,625
402 SIZERHE01 M 36,594 32,969 3,625
03 SIZt?(Er AL I 36,594 32,969 3,625
OXJIHZ Ex= NP e =8
22,8002 *1,605CH 36,594 32,969 3,625
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JIZ 0l X 2
=2 UOIE e
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= HIIE e

M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
Ol2l0l S&rxtafol LPGRF M& XA 85,000 50,000 35,000
=2 42,500 25,000 17,500
Al 42,500 25,000 17,500
402 BIHRH=R0|H 85,000 50,000 35,000
= 42,500 25,000 17,500
Al 42,500 25,000 17,500
02 QIR AL E X (0IETHE) 85,000 50,000 35,000

OO0{RI0| S5l LPGXH M & KR ALY

5,000,000 *17CH 85,000 50,000 35,000
= 42,500 25,000 17,500
Al 42,500 25,000 17,500
IS 00 X 23,615,000 23,692,000 AT7,000
=2 20,612,000 22,432,000 1,820,000
(= 714,000 1,260,000 546,000
Al 2,289,000 0 2,289,000
402 BIEXH20|H 23,607,000 23,692,000 85,000
= 20,604,000 22,432,000 1,828,000
(= 714,000 1,260,000 546,000
Al 2,289,000 0 2,289,000
02 QIR AL E X (0IETHS) 23,607,000 23,692,000 85,000
OISR 2ItES 23,607,000 23,692,000 85,000
—XI|Is=2R 11,851,000,0002 11,851,000 10,884,000 967,000
= 10,876,000 10,884,000 8,000
Al 975,000 0 975,000
—XI|G 2SR 7,948,000,000 7,948,000 7,348,000 600,000
= 7,348,000 7,348,000 0
Al 600,000 0 600,000
—HIIHA 3,808,000,0002 3,808,000 5,460,000 1,652,000
= 2,380,000 4,200,000 1,820,000
[ 714,000 1,260,000 546,000
Al 714,000 0 714,000
405 XHAHE S| 8,000 0 8,000
= 8,000 0 8,000
01 I S EF S 8,000 0 8,000
OFMIINSIH&AE) 8,000,000 8,000 0 8,000
= 8,000 0 8,000
2| BS ALY 40,000 70,000 30,000
=2 20,000 50,000 30,000
Al 20,000 20,000 0
402 BIZHRH=R0|H 40,000 70,000 30,000
= 20,000 50,000 A30,000
Al 20,000 20,000 0
02 QIR AL E X (0IETHE) 40,000 70,000 A30,000




SA: JIZ0H X 2

Hu: SARLEQ (DIR HM
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SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
OFIIZE)| B2 40,000,0002 40,000 70,000 230,000
2 20,000 50,000 30,000
Al 20,000 20,000 0
SAFIINSH FSA 1,200,000 900,000 300,000
2 900,000 900,000 0
Al 300,000 0 300,000
402 QIHRH0IH 1,177,500 900,000 277,500
2 877,500 900,000 222,500
Al 300,000 0 300,000
02 SIZHAH=Z AL 2 X (OIR THR) 1,177,500 900,000 277,500
O4AFIINSH 21222
1,177,500, 0002 1,177,500 900,000 277,500
2 877,500 900,000 222,500
Al 300,000 0 300,000
405 Xpor St 22,500 0 22,500
2 22,500 0 22,500
B EEEETN 22,500 0 22,500
O%AFIINSXHZE)
22,500, 00024 +1CH 22,500 0 22,500
2 22,500 0 22,500
T X olmat P& KA 0 29,980 £.29,980
400 QIFHRH0IH 0 29,980 £.29,980
01 SI2EXFZARY 2 (KA THR! ) 0 29,980 729,980
OFIIZt 2% BFHI| &3 N
02! 0 10,000 A10,000
OFIIZt 3HY 221 QHFAIE &R KB
0% 0 19,960 A19,980
OILAT OIS Br2ist & JpAQHE 22 869,269 93,470 A114,201
2 355,570 356,629 A1,059
= 79,550 78,600 950
Al 434,149 548,241 A114,002
CREEEKE 869,269 93,470 A114,201
2 365,570 356,629 A1,089
= 79,550 78,600 950
Al 434,149 548,241 A114,002
ATHMOILIX SZEXIR A 575,369 692,920 A117,551
2 304,320 306,704 A1,384
Al 271,049 387,216 A116, 167
307 2I2¢0IH 575,369 692,920 A117,551
2 304,320 305,704 ~1,384
Al 271,049 387,216 A116, 167
IOV STEES 575,369 692,920 A117,551
OATMUILK SZEXIRA
575,369, 0002 575,369 692,920 A117,551
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OIXl Ol &clat & JtA0t
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SN - B G(EH) - NRAY - BES 0 & o[- HimEE]
= 304,320 305,704 A1,384
Al 271,049 387,216 A116,167
OILIEfZE E=SX3ALS 40,470 30,000 10,470
& 20,235 15,000 5,235
Al 20,235 15,000 5,235
307 QI2Hol ™ 40,470 30,000 10,470
= 20,235 15,000 5,235
Al 20,235 15,000 5,235
02 SIZHBAAIHE X 40,470 30,000 10,470
OO0ILIE 2 XIFAHS 40,470,000& 40,470 30,000 10,470
= 20,235 15,000 5,235
Al 20,235 15,000 5,235
SAIDEA B2 X3 ALS 83,430 92,000 8,570
= 41,715 46,000 A4,285
Al 41,715 46,000 A4,285
402 SI2ERH=0IH 83,430 92,000 A8,570
s 41,715 46,000 A4,285
Al 41,715 46,000 A4,285
02 QIZEXHE A B X (01 &THE) 83,430 92,000 8,570
OZAITEA HH2t2 I3 AP
83,430,000& 83,430 92,000 8,570
= 41,715 46,000 A4,285
Al 41,715 46,000 A4,285
LPGS I ALEItT AIEIHE ALY 13,500 11,250 2,250
= 6,750 5,625 1,125
Al 6,750 5,625 1,125
403 XX SHHSK=01H 13,500 11,250 2,250
= 6,750 5,625 1,125
Al 6,750 5,625 1,125
02 SIS0 HetA=2E S AIS I 13,500 11,250 2,250
OLPGEI| AFEI AIE NS ALY
13,500,000& 13,500 11,250 2,250
= 6,750 5,625 1,125
Al 6,750 5,625 1,125
LML FHIAAME JI2XA 0 800 AB800
= 0 800 A800
307 gI2Hol 0 800 A800
2 0 800 2800
02 QIRHHAAIHE X 0 800 A800
OZdAFHISAMY JI=XIA (05! 0 800 800
= 0 800 A800
MHRES (OIS0 LX) 2,189,733 0 2,189,733
BEXE 2,189,733 0 2,189,733




FA I X 2

3 XHE—%‘%(JI?MIHIU’J)

ool RS (S &)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o CImE=E
BrEt=D|EL 2,189,733 2,189,733

802 B3 JIEL 2,189,733 2,189,733
01 I NEXZLE=z 2,130,770 2,130,770
020198 AR HHEItA HZAIY KA
2eld| & &rol 51,524,000& 51,524 51,524
020198 2B R HHEIA M2 ALY KA
Zt2|dl Ol At 785,650 786 786
Q22 2HIRI HESIHA H2ZAE &
£l 353,201, 300& 353,202 353,202
020223 2HARI HEItA M2 ALY OlAH
11,666, 7102 11,667 11,667
O2023 3712 ZUEX dswX2el X
FAL T e Aol 4,707,900 4,708 4,708
Q20223 E&J12t JNEX EsRA22| X
ALY Ol Xt 658,490& 659 659
0202343 IHEE M=2A S XA OIA
466,280 467 467
020208 IS ESAtY S &HoH
440,070,000 440,070 440,070
020208 MIIXSIH ES AL 01kt
21,342,560& 21,343 21,343
020213 IS SESAtY S &t
15,280,000 15,280 15,280
Q20218 MI|Xts X 22 A 01k
46,898,180 46,899 46,89
02023 MIIXNSI SS At S &toH
390,609,000 390,609 390,609
020228 MIItsAH 25 ALY Ol Xt
26,291,060& 26,292 26,292
0O2023F H{el0] SsHXtEr LPGAF M8 XIE A
T g &roH 56,000,000 56,000 56,000
O2023F O{gl0l S&rxtet LPGRt M2 XIJ A
OIXt 1,271,580& 1,272 1,272
020238 =AXt ESAtY & el &hoH
697,500,000& 697,500 697,500
020238 ==4Xt E5AtE OlAt
9,922,060& 9,923 9,923
020234 MAIATISK ESAE Ol R
5,360& 6 6
02023E FHAHS HUHKSKIAIY & &kH
2,495,720 2,49% 2,4%
020238 HAHE OHKXISKIALE Ol X
66,960 67 67
02 Al - EHIE=SEtet= 58,963 58,963
020234 EhA %‘E@EHI(OHI:IXI) el Kol
530,950& 531 531
O2023H EFASZZIER(UILHXI) O K
54,220& 55 55




fA: JIZ0H X 2

3 HesOI=0HXIL)
thel: B8XE (CH9: &S1)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
o023 to|etB =82 FAl2c| &Y
1,404,220 1,405 1,405
o023 tp|2tZ=82 7 Al OlXt
115,250& 116 116
020198 2}BRI HHEILA M2ZAY 2K
2teld] st 7,728,600 7,729 7,729
020198 2B FA HEItA M2ZAY =X
22l Ol Xt 117,840 118 118
O20223 2BRI HEIA HZAIY T
&hoK 33,609, 1002 33,610 33,610
O2022F 2 BRI HHEItA M2ZIALY 01K
1,060,040 1,061 1,061
o202 B5012F WA dssXzel X
ALY ZHakon 706, 180& 707 707
O20223 22012t WA AssX2el X
AL OIXt 98,770 e 9
o023 FHAAES 0IBAE &USIIE2 =3
o AEE XA ZHEAH
966,900 967 %7
o023 FHAAS 0IBAIE &UiBIIE2 =8
2 AEE XFAE OlA 38,2602 39 3
O2020F HIBHE 2| 3la=2telAtY T eH &N
255,810 256 256
02020 HIBHE2] Sla=2t2| At Ol Xt
7,2103 8 8
02023 DILIEHZE SSXRAY EHXH
8,176,000& 8,176 8,176
02023 DILIEHE 2SS X AE OA
137,550 138 138
O2023E ZHHHI HIHXIS X XA H &
&hok 3,860,980 3,861 3,861
020238 ZFHHI HILXI= X X2 A OIR
44,5102 45 45
02022 EAIJEA Hi2t2 XIRAHY Ol Kt
42,0002 2 2




